

11.06.2021

Mathematics Hons.

B.Sc. Part-I

Paper-I

Topic: Summation of  
Trigonometrical Series  
(Higher Trigonometry)

~~Ex~~ Sum to  $n$  terms of the  
Series

(i)  $\sin^2 \alpha + \sin^2 3\alpha + \sin^2 5\alpha + \dots$

(ii)  $\sin^3 \alpha + \sin^3 3\alpha + \sin^3 5\alpha + \dots$

Sol<sup>n</sup>:- We use the following  
formula:  $\sin^2 \theta = \frac{1 - \cos 2\theta}{2}$

Hence the given series

$$= \frac{1 - \cos 2\alpha}{2} + \frac{1 - \cos 6\alpha}{2} + \frac{1 - \cos 10\alpha}{2}$$

+ ... to  $n$  terms

$$= \frac{n}{2} - \frac{1}{2} [\cos 2\alpha + \cos 6\alpha + \cos 10\alpha$$

+ ... to  $n$  terms]

$$= \frac{n}{2} - \frac{1}{2} \cdot \frac{\sin 2n\alpha \cos \left( 2\alpha + \frac{n-1}{2} \cdot 4\alpha \right)}{\sin 2\alpha}$$

$$= \frac{n}{2} - \frac{1}{2} \cdot \frac{\sin 2n\alpha \cos 2n\alpha}{\sin 2\alpha}$$

$$= \frac{n}{2} - \frac{1}{4} \cdot \frac{\sin 4n\alpha}{\sin 2\alpha}$$

11.06.2021,

(ii) Here we use the following formula:

$$\sin 3\theta = 3\sin\theta - 4\sin^3\theta$$

$$\therefore \sin^3\theta = \frac{3\sin\theta - \sin 3\theta}{4}$$

Hence the given series

$$= \frac{1}{4} [ (3\sin\alpha - \sin 3\alpha) + (3\sin 3\alpha - \sin 9\alpha)$$

$$+ (3\sin 9\alpha - \sin 27\alpha) + \dots + \text{to } n \text{ terms}$$

$$= \frac{1}{4} [ 3(\sin\alpha + \sin 3\alpha + \sin 9\alpha + \dots + \text{to } n \text{ terms})$$

$$- (\sin 3\alpha + \sin 9\alpha + \sin 27\alpha + \dots + \text{to } n \text{ terms}) ]$$

$$= \frac{1}{4} \left[ 3 \frac{\sin n\alpha}{\sin \alpha} \sin \left( \alpha + \frac{n-1}{2} \cdot 2\alpha \right) \right.$$

$$\left. - \frac{\sin n 3\alpha}{\sin 3\alpha} \sin \left( 3\alpha + \frac{n-1}{2} \cdot 6\alpha \right) \right]$$

$$= \frac{1}{4} \left[ 3 \frac{\sin n\alpha}{\sin \alpha} \sin n\alpha - \frac{\sin 3n\alpha}{\sin 3\alpha} \sin 3n\alpha \right]$$

$$= \frac{1}{4} \left[ \frac{3 \sin^2 n\alpha}{\sin \alpha} - \frac{\sin^2 3n\alpha}{\sin 3\alpha} \right]$$

## Ex Sum to $n$ terms of the Series

$$(i) \sin d - \sin(d+\beta) + \sin(d+2\beta) - \sin(d+3\beta) + \dots$$

$$(ii) \cos d - \sin 2d - \cos 3d + \sin 4d + \cos 5d - \dots$$

Sol<sup>n</sup>. (i) Let  $S$  be the sum of the series

$$\text{Since } \sin(\pi + \theta) = -\sin \theta$$

$$\sin(2\pi + \theta) = \sin \theta \text{ etc.}$$

$$\sin(2\pi + d + 2\beta) = \sin(d + 2\beta)$$

$$\sin(3\pi + d + 3\beta) = -\sin(d + 3\beta)$$

... etc.

$\therefore$  The given series

$$= \sin d + \sin(\pi + d + \beta) + \sin(2\pi + d + 2\beta) + \sin(3\pi + d + 3\beta) + \dots \text{ to } n \text{ terms}$$

Here, the angles are in A.P. whose first term =  $d$  and common difference =  $\pi + \beta$ .

$\therefore$  Applying the formula

We get,

$$S = \sin n \left( \frac{\alpha + \beta}{2} \right)$$

$$\frac{\sin \frac{\alpha + \beta}{2}}$$

$$\sin \left\{ \alpha + \frac{n-1}{2} (\alpha + \beta) \right\}$$

(ii) Let the given Sum = S.  
then  $S = \cos \alpha + \cos \left\{ \alpha + \frac{\alpha + \beta}{2} \right\}$   
 $+ \cos \left\{ \alpha + 2 \left( \frac{\alpha + \beta}{2} \right) \right\} + \dots$  to n terms

$$\therefore S = \frac{\sin \frac{n}{2} \left( \alpha + \frac{\alpha + \beta}{2} \right)}{\sin \frac{\alpha + \beta}{2}}$$

$$\frac{\sin \frac{n}{2} \left( \alpha + \frac{\alpha + \beta}{2} \right)}{\sin \frac{\alpha + \beta}{2}}$$

$$\cos \left\{ \alpha + \frac{n-1}{2} (\alpha + \beta) \right\}$$

~~Q.2~~ Prove that

$$\cos \frac{\pi}{11} + \cos \frac{3\pi}{11} + \cos \frac{5\pi}{11} +$$

$$\cos \frac{7\pi}{11} + \cos \frac{9\pi}{11} = \frac{1}{2}$$

Sol<sup>n</sup>: Here,  $\alpha = \frac{\pi}{11}$ ,  $\beta = \frac{2\pi}{11}$

and  $n = 5$ .

Using cosine formula, we get

the required sum =

$$\frac{\sin \frac{5 \cdot 2\pi}{11}}{2 \cdot 11} \cdot \cos \left( \frac{\pi}{11} + \frac{5-1}{2} \cdot \frac{2\pi}{11} \right)$$
$$\frac{\sin \frac{1 \cdot 2\pi}{11}}{2 \cdot 11}$$

$$= \frac{\sin 5\pi}{11} \cdot \cos \frac{5\pi}{11}$$
$$\frac{\sin \pi}{11}$$

$$= \frac{\sin 10\pi}{11}$$

$$= \frac{2 \sin \frac{\pi}{11}}{11}$$

$$= \frac{\sin \frac{\pi}{11}}{11}$$

$$= \frac{1}{2} \sin \frac{\pi}{11}$$

$$= \frac{1}{2} \sin \frac{\pi}{11}$$

V. S. Giridhar Das  
Asst. Prof. of Maths.  
D.K. College,  
Dumraon.